GO EE FlEOXFEML-3

ZENDLERE| BiEEsm | 0%
NO.3 2 Al /3

QO ROFEBEICEAZZIL &£ 9,
® 1200 FADOEMITHER 8 NEMALREZTRDHR I\,

. 1200 H
A - Ny
e

® ]

@ | LOKD 37.5 %EENT Lz, FZRoT=/KOEILFE-S =KD
DEDEWBIZGE 50 KD I W,

" ﬂﬁvtﬁ\y//’ﬁU\\\j

375 1T —

@ HIEROBIOAKL. ERAEOAKOLET, 4T 0AKI
120 ATH., ZOEREROAKERDE X\,
= 75

- BF 10
=

| 04—

@

R CiE A 5E FY L 1



EEG DL FEHB EI G OSB3
- 1200 /9
=
L Ty
D e
1200 X ( | + 0.08 ) ®
= 1200 X 1.08 = 1296 1296 M
| - 0.375 = 0.625 3751 — [0.625]
0.375 = 0.625 = 0.6
60 %
Q 2HDAKEDLT S £
4 FI r/_%%L\W//umkﬁ
I - 0.4 = 0.6 l 04_/| 06
120 = 0.6 = 200 @
200 A

HECHELLFEE UL



